REV. DESCRIPTION BY DATE APPROVED

AN I 5
f L] o o L3 £ \
JESN XY ======= 17
iy  (RArarsrsr B @ LaLae o> JS2SEs| | |<S25ES b
S XX ) SRR ES LT 23S eS S5
X X X I X X e X e K [ R ) IS | S ESES |
L X XX SRS CEEB BT 5SS S
2 2T Ky & L X O X e e [ owr X e X e ) s e s s | | ems e
SRR T R Ko T S ES AR RS S CAX.
X v M R v X R e ) S e e s | | eSS e
e e ) 5 5 5 Lo X o XX TS e R b
(X X ] (X X ) SESESTES| | |<SESES
R X X A LYY et e SRR Y XX,
N o X o X e S Sl o e xexerel e rere,
Rl X ) SESES Seseaoos B e e (e X:
(N X e =525 2S (S T X ) 38.19 N (Bexcas e 1 Eas e ]
D e T = e o 32.78 S| <SS
STEESES S ES e T e i SESES S5
. p
I | 2363 | 24.71 -
1 1400 |— ¢
.. =] . B [ I
[ - © !I = 2 a y ° s ']
= = |/
i [ s 4
| —Sliding Door ' ‘ \l
- 65.42 - Hardware List:
/ 86 Sets of 24.88
r 69.25 ,‘ 1/4-20 x 3/4" Button Head Screws
—Loter
Light duty 14" Slide (Faucher #699-9170)  4sets of
1/4-20 x 1" Carriage Bolts
1/4-20 Flat Washers
& [o] o] g 1/4-20 Nyloc Nuts
6 Sets of
52.75 1/4-20 Flat Washers
1/4-20 Nyloc Nuts
20 Sets of
#10-32 x 1/2" RD Head Screws
#10-32 Lock Washer .
s 31.75 #10-32 FIaI quh?r . 3/4" THK RUBBER
58.56 24- $3/16" GP3/8" Alum Rivets
. 2-#10 Fender Washers NAME DATE ,,ﬁ%‘ ELECTRONICS CO. w0 DANDR-ANSI-A  SIZE
CErale REV2
18.59 38.84 DRAWN MQ 13Novis [P APRIL 1,2009
Path: YAAM\MECH_DESIGN\2016 Ford Super Crew F150 K9 Kennel\
CHECKED le: 934-
AD ] 3NOV] 5 }:Dlgt;’:%ig?y?ﬁovember 13,2015 11:48:34 AM
DESCRIPTION: .
— THE INFORMATION CONTAINED
\G v i — - " ... { wnHles DRAWINGAIS K9 Kennel Slngle Dog
2 ¢ —_— g 0 PROPRIET:EYD/IASNTBECS%I\EEIDENTIAL For Ford F-150
PROPERTY OF DandR Super Crew Cab Pick up
Package should also include NOT 8 REFRODUCED AT WHole M1 934-0729A CAINOS O
OR IN PART WITHOUT THE -
. . WRITTEN PE/SMISSION OFDandR  sep on:
SECTION B-B 1 pair of window cover and ELECTRONICS CO. LTD. USED ON: SHEET 1 OF 2
SCALET1:16 door cover (see sheet2)

MATERIAL

1/8" THK ALUM / 12 GA CRS

FINISH

REV. O

Midnight Black Wrinkle



REV. DESCRIPTION BY DATE APPROVED

Roof Holding
Brkt (2x)

Rear Panel
Side Panel (DS+PS)

Door Exit Roof (DS+PS)

Window Guard (DS+PS)

Divider Ass'y Window Guard Mtg Brkt (8)

Door Cover (DS&PS)

3/4" THK Rubber Mat

Front Panel Ass'y
(including outside part of slide)

NAME DATE . ELECTRONICS GO RDé\VNQDR—ANSI-A Size
MQ | 13NOV15 & APRIL 1,2009 A

Path: YAAM\MECH_DESIGN\2016 Ford Super Crew F150 K9 Kennel\
File: 934-0729A

DRAWN

i i ! CHECKED
Door EXIT (DS&PS ) Froan (sjllde |D$o}’: Assdy AD 13NOV15 Date: Friday, November 13, 2015 11:48:34 AM
(including la chan THE INFORMATION CONTAINED — *="'™™ K9 Kennel Single Dog
inside porf of s||de) WITHIN THIS DRAWING IS
‘ PROPRIETARY AND CONFIBENTIAL For Ford F-150
K9 Main Tray PROPERTY OF DandR Super Crew Cab Pick up
ront Pane
Enforce Chan(2x) OR IN PART WITHOUT THE 934-0729A
WRITTEN PERMISSION OF DandR  sg5 on:
ELECTRONICS CO. LTD. SHEET 2 OF 2
K9 Assembly M’rg Sub Frame FINISH MATERIAL REV.
1/8" THK ALUM / 12 GA CRS O

Midnight Black Wrinkle



	Sheet1
	Drawing View7
	Drawing View9
	Drawing View10
	Section View B-B

	Sheet2
	Drawing View4


